201HH 7.5HP 3PH Column Assembly

Product Images

///////



https://jpw-catalog-qa-b2c-2.corevist.cloud/201hh-7-5hp-3ph-column-assembly

Description

Index
Number

1

2

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

Part Number

6012193

6012194

6012195

6012079

6012080

6012066

6012067

6012083

6012082

6012197

6012157

6012198

6012199

6012200

6012201

6012202

6012203

6012091

6012204

6012205

6012206

6012207

6012208

6012209

6012210

6012211A

6012212

6012213

6012214

6012087

6012088

6012156

6012215

Description

Lifting Eye

Left Column

Pin

Hex Nut

Flat Washer

Socket Head Cap Screw
Spring Washer

Flat Washer

Shaft

Sprocket

Spring Washer

Socket Head Cap Screw
Pan Head Machine Screw
Spring Washer

Flat Washer

Switch Box

Left Sidecover

Screw

Hex Nut

Idler Assembly

Stand Off

Stop Switch

Start Switch

Ball Detent

Spring

Shifter Hub

Set Screw

Shaft

Handle

Screw

Cord Clip

Socket Head Cap Screw

Right Column

Size

M20 x 2.5P x 30Lg

M10 x 1.5P
10mm x 25 x 3T
M8 x 1.25P x 25Lg
8.2mmx 15.4

8.5mm x 19 x 2T

10.2mmx 18.4
M10 x 1.5P x 40Lg
M4 x 0.7P x 10Lg
41mmx 7.7

43mmx 10 x 1T

M6 x 1.0P x 10Lg

5/16"-18NC

emm

M6 x 1.0P x 12Lg

M5 x 0.8P x 10Lg
ACC-3

M10 x 1.5P x 35Lg

https://jpw-catalog-gqa-b2c-2.corevist.cloud/201hh-7-5hp-3ph-column-assembly

Qty

8/24/25


https://jpw-catalog-qa-b2c-2.corevist.cloud/201hh-7-5hp-3ph-column-assembly

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

51

52

53

54

55

6012216

6293370

6292745

6012217

6012218

6012219

6012220

6012221

6012222

6012223

6012224

6012225

6012226

6012227

6012228

6012230

6012293

6012231

6012201

6012232

Ball Bearing 6004772

Key 5x5x10
Key 5x5x16
Shaft

Housing

Sleeve

Socket Head Cap Screw M6 x 1.0P x 16Lg
Rocker Arm

Right Cover

Handwheel

Lock Knob

Handwheel Swivel Assembly

Label Shifter

Rivet

Pointer

Scale

Hex Nut M20 x 2.5
Height Adjust Label

Flat Washer 43x10x1T

Screw M4 x 0.7P x 8Lg

Additional Information

Stock Number

Products in this set

1791268-3

https://jpw-catalog-gqa-b2c-2.corevist.cloud/201hh-7-5hp-3ph-column-assembly

8/24/25


https://jpw-catalog-qa-b2c-2.corevist.cloud/201hh-7-5hp-3ph-column-assembly

